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Q1 Write 380 as a product of prime factors 

……………………………………….. 

(2) 

Q2 Estimate the value of 39.928 ×24.938 ×2938.7
308.4928 ×83.918

.  Write down the calculation you perform. 

……………………………………... 

(2) 

Q3 a Write 832 in standard form. 

……………………………………... 

(1) 

b Write 7.4 ×  10−3 in ordinary form. 

……………………………………... 

(1) 

c Write 0.0432 in standard form. 

……………………………………... 

(1) 

d Write 1.2645 × 103 in ordinary form. 

……………………………………... 

(1)



Q4 3 1
5

÷ 2 1
8
 

……………………………………... 

(1) 

Q5 Expand the following expressions 

a 4(3𝑥𝑥 + 7) 

……………………………………... 

(1) 

b (9𝑥𝑥 + 5)(3𝑥𝑥 − 8) 

……………………………………... 

(2) 

c (4𝑥𝑥 + 3)(3𝑥𝑥 − 2)(2𝑥𝑥 + 1) 

……………………………………... 

(3) 

Q6 Factorise fully 16𝑥𝑥2 + 12𝑥𝑥𝑥𝑥 − 20𝑥𝑥 + 4𝑥𝑥 

……………………………………... 

(2)



Q7 Solve 5𝑥𝑥 + 8 = 43 

……………………………………... 

(2) 

Q8 The weight of an object is inversely proportional to the objects speed. 

When an object weighs 5kg, its speed is 20 ms-1. 

What is the weight of an object whose speed is 35 ms-1? 

……………………………………... 

(3)



Q9 The altitude of an object is directly proportional to its temperature. 

When the object is 2500m high, the temperature is 12°C. 

What is the altitude of the object when the temperature is 37°C? 

……………………………………... 

(9) 

Q10 a Fill in the table below showing the following: 𝑦𝑦 = 4𝑥𝑥 + 3 for − 4 ≤ 𝑥𝑥 ≤ 4. 

X -4 -3 -2 -1 0 1 2 3 4 

Y 

b Fill in the table below showing the following: 𝑦𝑦 = 5 − 2𝑥𝑥 for − 5 ≤ 𝑥𝑥 ≤ 3. 

X -5

Y 

c Fill in the table below showing the following: 𝑦𝑦 = 3𝑥𝑥 − 8 for − 7 ≤ 𝑥𝑥 ≤ 1. 

X 

Y 

(3) 



Q11 The sequence below is a linear sequence. 

8 14 20 26 

a Write the next three terms in the sequence. 

……………………………………... 

(3) 

b Write a rule describing what you need to do to find the next term in the sequence. 

……………………………………... 

(1) 

c Write an expression for the nth term in the sequence. 

……………………………………... 

(3) 

d Is the number 284 in the sequence described above? 

……………………………………... 

(2)



Q12 The sequence below is a linear sequence. 

25 17 9 

a Write the next three terms in the sequence. 

……………………………………... 

(3) 

b Write a rule describing what you need to do to find the next term in the sequence. 

……………………………………... 

(1) 

c Write an expression for the nth term in the sequence. 

……………………………………... 

(3) 

d Is the number 683 in the sequence described above? 

……………………………………... 

(2)



Q13 Find the value of x.  You MUST provide reasons for your answer. 

A
B

C

F

D
E

x

115º

105º

G

………………………………………… 

(4)



Q14 Find the area of the right angled  below. 
20

 c
m

29 cm

………………………………………… 

(4) 

Q15 AB is a diameter.  Find the area of the shaded part of the shape below. 

35 cm

12 cm

A B

………………………………………… 

(6)



Q16 Write 384 as a product of its prime factors. 

……………………………………... 

(2) 

Q17 A bus and a train left the railway station at 8:00 am.  The train’s route took 45 minutes 
before it returned to the railway station.  The bus’ route took 72 minutes before it returned 
to the bus stop outside the railway station. 

At what time were the bus and railway train both back at the railway station? 

……………………………………... 

(3) 

Q18 Billy had £80.  After a day at the races he had increased this by 75%.  On a second day, he 
lost 25% of his remaining money.  Did he have more money than that with which he had started? 

You must show your working. 

……………………………………………….. 

(4)




